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I Definitions: of 1125 ,pv2a3 ;1 o (v. 1)
a  Based on tradition
i 9w is unhewn stones (extra nav for uncropped nav)
ii ~ mmis hewn stones of 5 n'nav
ili  po¥ad are 1.5 width bricks, with 1 nav of mortar between them
iv 1125 are 3 wide bricks
1 Conclusion (»28): 1 nav of mortar is needed to cement bricks
(a) Suggestion: perhaps this only applies to cement, but filling rocks demands more
(b) Alternatively: perhaps this only applies to filling rocks, but cement demands less
II  Tangential discussion:
a  Inference: with hewn stones, 5 D'nav wide are necessary to hold up a ®*1-high wall (as per "1 mwn)
b Challenge: in nn5v w1pn, there was a 30-nnR high wall (1op7v NRR) with only a 6 nav width
i Answer: 6 pnav are wide enough to support a much higher wall
¢ Question: why was there no PPop70 MnR in W WTPN?
i Answer: it was higher (as per v. 2) and the wall wouldn’t stand
ii ~ Challenge: why not build it higher
1 Answer: it only holds if there is a roof to connect it to
iii ~Challenge: why not build part popiv and part noys
1  Answer: tradition dictates that it be either all nay1a (a la jown) or all wall (a la nnYw w1PN)
I Question about the measurements: do they include the plaster or not
a 717 must include plaster, else, why not mention that as well
i Rejection: perhaps, since the amount of plaster is <nav, no need to mention
1 Attempted challenges: from other m»wn that seem to make mention of smaller ™YW (rejected)
IV n701 *7's ruling: may not destroy a nvi> na until they’ve built the replacement
a  Possible reason: they may neglect to build
b Alternatively: to maintain proper nan in the meantime
i Split the difference: if there is a set place for n%an
ii  Case: X701 91 0 would tear down summer-shul and build winter-shul and vice-versa
¢ Question: what if they collected money for the new 1"2?
i Answer: they may have a sudden need for money (for naw 11719)
d  Question: what if they prepared the building materials? (answer as before — they may have to sell them for v*1a)
e  Caveat: only if there was not rot (e.g.) in old 172°3; if there was, they may tear down immediately story with »ox ")
f  Tangential story: Herod’s rebuilding (and ®v12 12 ®12’s role in advising him to do so in light of n™’s ruling) — vv. 3-14
V  Analysis of end of '® mwn:
a YN anmd 9n: extends to simple reed wall
b If wall fell, belongs to both:
i Challenge: this is obvious
1 Answer: case where it fell to one side or one partner moved the stones to his side
(a) ®"o the other should be considered n”ynn — %"np that it is split
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